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Time: 2:30 Hours

Instructions:

MCM3AMAEO0113

Seat No :

M.Com Semester - 3 (CBCS) Examination
Oct/Nov. -2019 (Old Course)
ADVANCED MANAGEMENT ACCOUNTING (ELECTIVE)

1. All questions are compulsory.
2. Figures to the right indicate marks.

Marks: 70
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Aol 3.11,00,00001 HSIRLsRLell 3Rt 6. Ml WA el wrioll v Aol eldu?
(Bt 3.1,00,000 & UURL Aol $AA olle sl uloll aldls Ass yale A Yol B.
UlasARAel €2 50% B.

%ot/ oy -1 ay-2 ay-3 -4 oy-5
A% oll-A 2,00,000 | 2,00,000 | 2,00,000 | 3,00,000 | 3,00,000
Al%ell-B 3,00,000 | 3,00,000 | 4,00,000 | 2,00,000 | 1,50,000
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UA 0.567 BD.

UH-1

wal

sy suUsll (A As Hellet Wileals] QAR B, wRHL A YsRetll Helloll Gudou 8. ¢a
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eUR(EUA 3.1,50,000 B2l 63l suUsll Ag 88 ¥ Hallol GlRL 15% dndR HOL ULasARAa €
50% 8. dARA e sl uloll U UcsAA wle 5201 UdELel AUU(B A ulals o(lA Yoo 8.

Heflot/ -1 oy-2 -3 -4 oy-5
H9{lot-H 6,00,000 | 5,00,000 | 4,00,000 | 3,00,000 | 3,00,000
Hollot-y 3,00,000 | 6,00,000 | 6,00,000 | 3,00,000 | 1,20,000

ol Aell ualAlall Guaol s3] Aell ay stsiss Uugldsll uieall s
1AL AGAR €2, 2.0y ccdMlot YL, 3.018l51R8cll (s

s 15%0t cetel URMA 3.19] clclHiol Heal Uil cdl Hie wofsN 0.870, 0.756, 0.658,
0.572 ¥l 0.497 8.
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yst-2 Al suell (@A A uRUUR RAsIQL Yrellal Alxell-00U A Aleetl-ayatiHigdl 518 Asal URde
scll HIOL 8. L HIZ UssAAL AHsL w(AIHoll GUlol scllHl A 8. olal YlegsaHi AsLal
3.12,00,0000] 8. SHH Adcloll cueR 12% 8. o{lAsll (Aol uRell et xuul ¥ Ariell sl
Ylgse ude s:cll.

el 2id Alogotl-dloU A% ol -2yl
Ass yale 3. | AgAL deucstl | Ass yals 3. | dull detdsll
1 6,00,000 0.7 5,00,000 0.9
2 6,00,000 0.6 5,50,000 0.7
3 6,00,000 0.5 6,00,000 0.5
4 7,00,000 0.4 6,50,000 0.4
5 7,00,000 0.3 7,00,000 0.3
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400 g2 Yl vilesii 8AA B. val AMliell 40% el Wil HAe B.
ol JlldHeU® scl of WIELA Al cliogotl Wl WAL well WRLEL 2k 8. %ol 12 an Yllodl Wl
3.30,000 Ul B.
scll vllecloll el g2€ls 3.70 .
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w el
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Yal-4  AHURS glUAELZlodl [Bleloll vald (@Qctrell AHestal. (15)
w el

yst-4  gsolld cul.
1. AHURs W cdle (@Al
2. <Yeleds Aslal
3. eles [PEla dsdRal AR 8l URwal

ENGLISH VERSION
Que-1 The Asha Ltd. thinks to launch a project. For this, two alternative plans are available. Plan-A  (20)
and Plan-B each plan requires initial investment of Rs.11,00,000 and scrap value of each is
Rs.1,00,000 at the end of 5 year’s useful life. The rate of tax is 50%.
Annual cash flow after depreciation and tax is as follows.

Plan/Year Year-1 Year-2 Year-3 Year-4 Year-5
Plan-A 2.00,000 2.00,000 2.00,000 3.00,000 3,00,000
Plan-B 3,00,000 3,00,000 4,00,000 2.00,000 150,000

Select the Best Project as per the following methods.
1.Pay-Back period 2.Average rate of retum 3 Net present value

The present value of Rs.1 at the discount rate of 12% for the first five years is 0.893, 0.797,
0.712, 0.636 and 0.567
OR
Que-1 Hemkunj Company Ltd. Is considering to purchase a machine. There are two machines
available. Machine-H and Machine-Y. The value of each machine Rs.21,50,000. The estimated
life of each machine is 5 year. After 5 years scrape value of Rs.1,50,000. The company required

rate of return is 15%. The rate of tax is 50%. The expected earnings after depreciation and before
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Que-2

Que-2

Que-3

Que-3
Que4

Que4

taxes for both machines are as follows.

Machine/Year Year-1 Year-2 Year-3 Year-4 Year-5
Machine-H 6,00,000 5,00,000 4,00,000 3.00,000 3,00,000
Machine-Y 3,00,000 6,00,000 6,00,000 3,00,000 1,20,000

Select the most profitable machine using the following methods.
1.Average rate of return 2 Net present value 3. Profitability index

The present value of Rs.1 at the discount rate of 15% for the first five years is 0.870, 0.756,

0.658, 0.572 and 0.497.

Lajavab dairy and ice-cream Stores sales family pack ice-cream. If the firm sale ice-cream pack (20)

within ten days it will get profit of Rs.25 per family pack. If the firm cannot sale within ten days,

it will suffer a loss of Rs. 15 per family pack.

Estimated 10 family pack | 20 family pack | 30 family pack | 40 family pack
demand

Probability 0.20 0.30 0.30 0.20

Calculate, how much stock of family pack should be maintained by the firm to earn maximum

profit.

OR
Shakshi Co. Ltd. want to select any one project from two mutually investment proposals project-
Ganga and project- Yamuna. For this purpose, the company uses certainty equivalent approach.
The investment is of Rs.12,00,000 for both projects. The risk-free borrowing rate is 12%. From
the following particulars. Advise that which project should be selected.

At the end Project-Ganga Project-Yamuna
of year Cash flow Rs. CE. Cash flow Rs. CE.
1 6,00,000 | 0.7 5,00,000 | 0.9
2 6,00,000 | 0.6 5,50,000 | 0.7
3 6,00,000 | 0.5 6,00,000 | 0.5
4 7,00,000 | 0.4 6,50,000 | 0.4
5 7,00,000 | 0.3 7,00,000 | 0.3

The present value of Rs.1 at the discount rate of 12% for the first five years is 0.893, 0.797,
0.712, 0.636 and 0.567.
Gautambhai plans to dig well in his farm. In the surrounding farms, at a depth of 300 feet water (15)
is found in 80% well. Those who have not found water till 300 feet, some of them dug 400 feet
and from it water is found in 40% well. If the Gautambhai does not wish to dig well then he can
buy the water from the surrounding farmers, whose expenditure for 12 years is Rs.30,000. The
cost of digging well per foot is Rs.70.
On the bases of this information prepare a “Decision Tree’” and find the best solution for the
Gautambhai.
OR
What is PERT and CPM? With a view point of management discuss utility of PERT and CPM.
Describe in detail concept of Social Responsibility Accounting. (15)
OR
Write short note.
1. Social cost-benefit analysis.
2. The Strategic Triangle
3. Effective elements of strategic decision making.
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